Chemistry 12 Name:

Strengths of Acids and Bases Worksheet P2

1. Forthefollowing, determine which species would have the higher [H30+] in water:
27 10.0 M HCIO, pr 1.0 M HCIO, cor 1.0 M H505
b) 0.0 M HCIOor 10.0 M HNO; d) 1.0 M NHg

2. Which is the stronger acid?

a) HSO3'(@ b) HSOyo@ c) HPO4% o

3. Which is the stronger base?

N
a)@or HSOs- b) @)r HSO4 c) or HCOO-?

4. C(Classify each of the following as: a strong acid (SA), weak acid (WA), strong base (SB),
weak base (WB) or a spectator ion (S).

a F W 5 S
b)  HIO; Wh g Nm W6
¢  NOs 3 hy oz )
d)  HClO, 0A i) CH3COOH WA
&) C0u Weh  p aor S

5. What is the [H30+] in a solution made by adding 0.020 moles of nitric acid to 500.mL of

water? 0. 020mol

HNDS H* N NOS-
0.04oM 0.04oM

6. For the following combinations, determine which species will donate a proton:
a) HSOs an s@ b) nd HCeHs072- c) HSO03 adHCeHs072-

7. Eeorthe following combinations, d ine which species will accept a proton:
@ d HC204 b) nd NO,- c) H2SO04 a



10.

11.

12.

13.

14.

a) Write the balanced equation which describes the equilibrium present when
0.1 M H,S03 is mixed with 0.1 M NO,-.

HeSvp ¢ N0, ™ & HM;™ < HND,

b) For thi ction, equilibrium tends to favour the (reactan t@nd the value of
Keq is (<1§1§r about =1)

a) Write the balanced equation which describes the equilibrium present when
0.1 M HSO3- is mixed with 0.1 M HC;04 .

. AN 2-
\'\SD 3 * HCJM - stbs * CzOq
b) For @;eaction, equilibrium tends to favour the ( @ products) and the value of

Keq is 1 or about =1)

a) Write the balanced equation which describes the equilibrium present when 0.1 M HPO,42-
is mixed with 0.1 M H2CsHs07-.

\‘\\)D*\z. t HngH507. = HzFOV- M HCQHSO72~

b) For thisxeaction, equilibrium tends to favour the (reactan ts@and the value of
Keq is (<1@r about =1)

e__—

The K, for the reaction: H12\2B + CD- € HCD + A;B- is 0.0020
) A ()

a) Which is the stronger conjugate acid in the above equilibrium?
HCD

b) Which is the stronger conjugate base in the above equilibrium?

B

>
The Keq for the reaction: H.X + YZ- &€ HYZ + HX is 3.4x105
A ) A )

a) Which is the stronger conjugate acid in the above equilibrium?

H: X

b) Which is the stronger conjugate base in the above equilibrium?

Equilibrium always favours the (strongernfweaker acid

Equilibrium always favours the [stronger@ base



